2025 (R7) EEARRGBER [(E=BREN AHEY]

5 2RI

F H SEANE | TREE ZERE =Lk R

B EF 35 76 76 43 1.8
BEER 6 6 5 1.2

o ®rEZ 15 15 5 3.0
FREEFFH e—— 14 1 1 5 -
BRARREHZR 3 3 2 15

gt ¥ F 12 43 43 13 3.3
EEBEZE ET4 9 9 5 1.8

FRAERERER

OF R RR (—HY)

z ® % S5 ANE | THREE ZEBRE BRE EE

£H 38 142 142 44 3.2

EXZE LELIR 10 22 22 14 1.6

#EB ™ 2 2 2 1 2.0

£H 27 62 62 35 1.8

EXZERE I 7 8 8 7 1.1

#E™H 1 0 - - -

£H 40 114 114 54 2.1

FREEFEH e 16 19 19 16 1.2

#ME ™ 4 2 2 2 1.0

£H 35 88 88 45 2.0

gt &2 E e 17 37 37 19 1.9

#EB ™ 3 4 4 2 2.0

eS| 32 57 56 44 1.3

g b F ILEE 8 5 5 5 1.0

#MEBH 2 2 2 2 1.0

£H 15 30 30 23 1.3

EfR#HEZE I 3 2 2 2 1.0

#E™ 1 0 - - -

OFKRHBIER(B)

F H SEANE | TREE ZERE =Lk R

EFE#EZE ET4 1 1 0 -
OXRZAZFHBET AN AERHEEILER

z ® S&EANE | SREE ZERE BRE EE

FREEFH 15 54 54 19 2.8

gt &2 E 10 38 38 13 2.9

a9 g A=t 18 34 34 21 1.6

EfF#HEZE ET4 8 8 2 4.0




Orif#iHE

z ® S5 ANE | EREE ZERE BRE EE
EXZFE 20 127 127 40 3.2
EXFE 20 127 127 52 2.4
FREEFH 25 131 131 47 2.8
it =FH 25 98 98 53 1.8
a9 g A=t 23 51 51 31 1.6
EfF#HEZE 10 34 34 17 2.0

ORI KFFHBTE

= o HEAE | EEE S AkE fak
EXZE 50 733 421 113 3.7
EXFE 30 415 185 74 2.5
FREEFH 66 906 422 137 3.1
it =FH 48 609 308 92 3.3
a9 g A=t 37 569 287 93 3.1
EfFHEZE 11 111 58 11 5.3

OrI#iB%E

z ® Bim  |enERSH|aRERES|SRETYA
EXZFE 500 451.9 409.9 4229
EXFE 500 442.0 384.0 403.8
FREEFH 600 552.4 451.0 476.2
gt &2 E 500 435.6 367.1 389.3
a9 g A=t 600 5445 4225 476.7
EfF#HEZE 500 447.0 393.0 412.3

ORI KRFHH AT

z ® Bim |onEREs|aRERES|ARETYA
EXZFE 800 699.2 545.8 588.7
FTR, 5RIE R 800 7215 600.5 634.8
RXFEH LN 600 480.0 438.0 450.4
stk g o 5RIE R 1200 1022.6 825.2 879.7
FRARTH —mam 800 | 6016 | 5470 | 5622
it =FH 700 594.3 477.6 511.0
a9 g A=t 600 500.5 400.5 435.4
EfF#HEZE 700 606.3 509.8 534.7
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